Cleomefr'(c Cequence

Q= (+a+a*+... +a™

t-ad-8 =8-a8 = l+ata+...4+a"™
‘(ﬁ+0"+"'+a"‘*a"‘“)
- . mt!
=M - o

2 8=

1f [al<l & m > o0
co k |

Sz lta+*tp*+-- = & A% = ——
K=o -0

Recotl . T Geo(_r)
PiTek)= P ¢ Tatl Toil o= Tosl Head) = ci-p2*™p

= = . = —_'_
E(cT) = .E'_ k- ptT=k) =
Prooff
ECT)

oo V-\
%‘ k-c-pXp

Co

= é k ‘fk"-P
pd 2 gt

k=

= fﬁ%(— -1)

'F"rap=

'

={’u-—q>=
:p \,';

—

f




Continous Rondlonms  Voriable

Recot] Biased dice

o o~ A
A FLX«M—(’IM- o] = P
w . ot
| 2% 4 5§
Com’fmou}
e PCX W ek, x+ax)) = FcWeA)
A LX) _ y - A _ fooor _ -

1HINE =P 2 ar = =T

ax o°
; ’.ﬂ-\ = %m":(x)-éx TJ\.’O'F(X)O(K =

x X4ax X
'Q('X) r‘am(oml5 thow @ f’o«'ht into JL
v ae'\' w A Uniform ()
X (w) o~ 'f X))
D
X
fe) £ = 1m Pxex, xtox)

\ x-Do PAYS

dFTob o(e,r\sf-('l,] -flvmc-(— Ton

'

Discvete - Piob mases 'P\Ahd‘fon PC X =x) =P
= £
p(Xeta,b)) )‘Zw‘b)(? )
Continnous Fmb O(Cns'ﬂ‘j ‘Fuv\cf?on ? (X ewx, Xx+ax)) = :FCX)AK

plXecn,bd) = J\:-fu:) dx



Another  Intuition
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